0 |8 |25 |15 9 8
13 13 19 |21 [0 |8 |23 23 |22 7
23 T J19 |21 5 26 13
15 25 6 16 |15 [6 |9 |22
1 16 |15 [6 |6 4
19 17 2T 1@efiihle 15 |8 [6 |25 |22
13 |3 |15 25 und 8 4
7 Empfindungen-2 [z 5
10 |8 |23 |23 [22 25 23 6
8 .4 19 [6 |23 |6 |14 |4 [15
23 |14 |25 |22 13 21
T |15 [8 |6 16 19 T |15 [15 |26 124 J21 |5
7 23 1 4
16 |14 ¢ |15 |6 1|26 |15 4 0 |13 |23 |15
14 25 15 13
5 13 10 24 |13 6 [6 |22
26 |13 |21 [15 |26 [22 16 6
8 8 |21 |12 [14 |13 [19 |4
7 |15 26 |14 |5 |10 |25 |15 6
T 12 I3 12 15 6 [7 I8 [9 [0 [T [12 |13
4 [15 |16 [17 [18 [19 [20 (217 |22 |23 [24 |25 |26

Die Nummern der fehlenden Buchstaben in den grau

hinterlegten Kistchen ergeben addiert die Losungszahl.
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8+ 17+ 10+ 22+ 26 =83



